3000

2000

1000

0

I I I I I I I
| ../Ca50/str/Ca2600c50

7 —6 -5 —4 -3 -2 =1 0 1

log tauO

|
../Cab50/Irs /Ca2600c50.v500

et

../Ca50/bmf/Ca2600c50

| |
4 5 6 7 8 9 10 11 12 13 14

|
2 3

lambda



1000

0

| | | | | | | |
-/ -6 -5-4-5-2-10 1 2

log tauO

| ../Ca50/str/Ca2500¢50 ]
5—6
- —
(@)}
- e
- 17 =7
| | | | I | | |
[ [ [ [ [ [ [ [
I | -8
Tcond(iron) _5

|
../Cab50/Irs /Ca2500c50.v500

../Ca50/bmf/Ca2500c50

L1
S 4 5 o6 /7 8 9 10 11 12 13 14

lambda



1000

0

T T T T
../Cab0/str/Ca2400c50

Tcond(iron)

~7 -6 -5 —4 -3 -2 —1

log tauO

|
../Ca50/Irs /Ca2400c50.v500

../Ca50/bmf/Ca2400c50

L
T2 3 4 5 6 /7 8 9 10 11 12 13 14

lambda



1000

0

T T T T
../Cab0/str/Ca2300c50

Tcond(iron)

~7 —6 =5 —4 =3 =2 —1

log tauO

| T
../Cab50/Irs /Ca2300c50.v500

../Ca50/bmf/Ca2300c50

| |
2 3 4 5 6 /7 8 9 10 11 12 13 14

lambda



1000

0

-/ -6 -5-4-5-2-10 1 2

log tauO

| ../Ca50/str/Ca2200¢50 ]
5—6
- -
(@)]
B 1 o
- 1 =7
| | | | | | | |
[ [ [ [ [ [ [ [
I | -8
Tcond(iron) _5

|
../Cab50/Irs /Ca2200c50.v500

../Ca50/bmf/Ca2200c50

L1 |
S5 4 5 6 /7 8 9

10 11 12 13 14

lambda



3000

2000

1000

0

I R B e —
../Cab0/str/Ca2100c50

Tcond(iron)

~7 -6 =5 —4 -3 -2 —1

log tauO

I
../Cab50/Irs/Ca2100¢50.v500

../Ca50/bmf/Ca2100c50

L1
2 3 4 5 6 /7 8 9 10 11 12 13 14

lambda



3000

2000

1000

0

I I I I I I
| ../Ca50/str/Ca2000¢50

Tcond(iron)

~7 -6 =5 —4 -3 -2 —1

log tauO

I
../Ca50/Irs/Ca2000c50.v500

e

1 2

../Ca50/bmf/Ca2000c50

I N B
T2 3 4 5 6 /7 8 9 10 11 12 13 14

lambda



1000

0

I I I I I I
| ../Ca50/str/Ca1900c50

Tcond(iron)

~7 —6 —5 —4 =3 —2 —1

log tauO

I
../Ca50/Irs/Ca1900c50.v500

../Ca50/bmf/Ca1900c50

L1
2 3 4 5 6 7 8 9 10 11 12 13 14

lambda



1000

0

| ../Ca50/str/Ca1800¢50

Tcond(iron)

-7 -6 =5 —4 =3 -2 =1 0

log tauO

I T
../Cab50/Irs/Ca1800c50.v500

../Ca50/bmf/Ca1800c50

| |
2 3 4 5 6 /7 8 9 10 11 12 13 14



3000

2000

1000

0

I I I I I I I
| ../Ca50/str/Ca1700¢50

Tcond(iron)

—

~7 -6 =5 —4 -3 -2 —1 0

log tauO

I
../Cab50/Irs/Ca1700c50.v500

../Ca50/bmf/Ca1700c50

/78 9 10 11 12 13 14

lambda



3000

2000

1000

0

I I I I I I I
| ../Ca50/str/Ca1600c50

Tcond(iron)

—

-7 6 -5 4 -3 -2 —1 0

log tauO

I
../Ca50

/Irs/Ca1600c50.v500

../Ca50/bmf/Ca1600c50

2 3

L
4 5 6 7 8 9 10 11 12 13 14

lambda



I I I I I I I —6 ' ' '

14 /ca50/str/Ca1500¢50 ] /C«AO/ s C015O'~ °v500
1.2 4 : ‘N'!I"' ]
1
57 F i
X0.8 - 4 &
— (@) i
0.6 4 ©
0.4 b 4 _gL i
0.2 F -
4000 ——F+—+—F+—+—F+—+— ' |
_9 | 1 1 1 1 | 1 1 1
i , I 1 2
Tcond(iron) _5 | _—
5000 n ../Ca50/bmf/Ca1500c¢50
= | | i |
o
2000
1000
0 | | | | | | | | -8 | | | | | | | | | | | | | |
-7 -6 -5 —-4-3-2-10 1 2 1 2 3 4 5 6 7 8 9 10 11 12 13 14

log tauO lambda



1.4

1.2

0.8
0.6
0.4
0.2

4000

3000

2000

1000

0

T T T T T 1
../Cab0/str/Ca1400c50

|
i
Tcond(iron) //////////////

—

-/ -6 -5-4-5-2-10 1 2

log tauO

I
../Ca50 /IfE ACa1400c50.v500

../Ca50/bmf/Ca1400c50

| I
T 2 3 4 5

6

/7 8

lambda

9

10 11

12 13 14




1.4

1.2

0.8
0.6
0.4
0.2

4000

3000

2000

1000

0

I B e .
../Cab0/str/Ca1300c50

/.

Tcond(iron)

—7 -6 =5 —4 —3 =2 —1

log tauO

0

1

|
../Ca50/Irey Ca1300c50.v500

ol

Wi

../Ca50/bmf/Ca1300c50

L1 L1
T 2 3 4 5

|
6 /7 8 9 10 11 12 13 14

lambda



1.4

1.2

X0.8
0.6
0.4
0.2

4000

3000

2000

1000

0

T T T T
../Cab’0/str/Ca1200c50

Tcond(iron)

~7 -6 =5 —4 =3 —2 —1

log tauO

0

1

I
../Ca50/Irs/Ca1200c50.v500

—
"ww
4

../Ca50/bmf/Ca1200c50

|
2 3% 4 5 6 /7 8 9 10 11

12 13 14

lambda




1.4

1.2

x0.8
0.6
0.4
0.2
4000

3000

2000

1000

0

T T T T T 1
../Cab0/str/Ca1100c50

|
!
Tcond(iron)
//

—

-/ -6 -5 —-4-5-2-10 1 2

log tauO

I
../Ca50

/Irs/Ca1100c50.v500

- 7
MW‘"W

../Ca50/bmf/Ca1100c50

2 3

| |
4 5

6 /7 8 9 10 11 12 13 14

lambda



I I I I I I I —6

I
14 T /ca50/str/Ca1000c50 ] ../Ca50/Irs,/Ca1000c50.v500
1.2 F . - 1
1
5—7 -
0.8 | 4 =
= o |
0.6 4 ©
0.4 | - —8 |
0.2 F .
4000 ——F—+—F+—+-+—— |
-9 I
i . | ;
Tcond(iron) _5 | _—
5000 ../Ca50/bmf/Ca1000c50
. i |
9
2000 i
1000 B
0 l l l l l l l l -9 l l l l l l l l l l l l l l
~7 -6 -5—-4-3-2-10 1 2 1 2 3 4 5 6 7 8 9 1011 12 13 14

log tauO lambda



I I I I I I I —6

|
T4 ../Ca50/str/Ca0900c50 | ../Ca50/Irs/Ca0900c50.v500
1.2 — - ]

c
EO.B - 1
Y— (@)] |
0.6 4 o© “I.L
b

4000 ————+—+4—+
_ 9 | 1 1 1 1 | 1 1 1
| . . 1 2
Tcond(iron) -6 | — T —_—
3000 F ../Ca50/bmf/Ca0900c50
. _ | i i
9

2000

1000

L1 I I Y B |
-/ -6 -5—-4-%5-2-10 1 2 T2 3 4 5 6 7 8 9 10 11 12 13 14

0 I I I I I I I I -9 I I I

log tauO lambda



T4 ../Ca50/str/Ca0800c50

1.2

0.8 -

4000 ———F—+—+—+—

Tcond(iron)
3000 | 71 ../Ca50/bmf/Ca0800c50

2000

1000

| | | | | | | | | | |
-/ -6 -5-4-3%5-2-10 1 2 1T 2 3 4 5 6 7 8 9 10 11 12 13 14

0 I I I I I I I I -9 L I I

log tauO lambda



